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X2INDOF = 33.43/50

N,= 624+ 26 (within 2.00)

N, = 58.8 + 287288.3 (within 200)

N = 654+ 27
N /SN =2409
Aconst = 651% 027
Amean = 111568900+ 0.01120MeV
Asigma = 255000 £ 001763 MeV/
polynomial:
PO=360384e+00+ 6.62662¢+00

p1=-169587e03+ 8.28009e+00
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X2INDOF = 22.68/50
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N,= 232+ 48 (within 2.00)
N, = 59.3+ 154.7 (within 2.00)
N, = 301
N = 243+ 50
N' /BN = 483
Meons = 248+ 051
x mean = 111568839+ 0.01140 MeV'
R sigma = 2.48166 + 0.06383 MeV
polynomial:
p0 = 3.24941e+01 + 5.08038e+01

p1=-256985¢+01 + 5.36965¢+01
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